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LECTURE 35

The instantaneous rate of change of £ olepends not only
on the [nput point put also the Alrection in which
we move from HAR input point

theSe points all have
different siopes!
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b= The partial derivative of £ wrt w at (=, :3.)
denoted F,[ (70150) 1S
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= fx(xozﬂo): Ll—g’lo ‘L(xﬂ' 130) 1C(X"'-yo)

Z= 2o h
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7)? -F(xl go)

« TWIS is just the normal derivative wrt 2 of £(x140) @ #o
* we can also apply this 0 y

EXAMPLE 12(“'9))’ X*y® - 5xe™ . Compute £, and £y @
Y01 Yo
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d

—

f (¥ ot ) -
dy (Y lj)’n:y. dﬂ (Xo 53_ 5)(08 y) 3302 on | l5X, Z‘y
fe(xiy)= 2xy3-Be® | £,(%,9)> y? - 15xe”



LECTURE 35

Lecture 35 ProblemS$

l) {:(Y,y)s Xzfjemy ¢= ]cx(lll) and 0‘3'{5(.(1 l)

x|

at f()l,\), the function is x%e

Y ¢l

di{:FN’/\I\HMHﬂﬁ wr+t X, %(,.)( Xze = ZXGYH i Yzexvl

at x=1, this gives Bel @

2) {:(Ylﬂ): e"ﬂSM(Y"H) WM{' (S ‘Fﬁ(wzo)

W (x2+1) ]
tave y=0. d sinlx) =
dx o (D (1)

2) £(xy)= Sin(xy) +x3y -y?

Oxi )= Fe(xy)  yoos(xy) + 3yx* D]
h(xY)= Gy (x,4)  co3(xy)- xysin(xy)+3x*



